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9 43.20.0.6[3F SAT{Ree8e [3MeadRep ¥ Uch §,00,000 0[Y,£ls,3%3.0[4¢.93 ¥,33,60¢.00
P 432.20.0.8|THAF 2282 [3MeaRe ¥ qcah ?,£0,00,00|3l, 90,233 [0.¢3 2,43, 4%, CEb.¥E
3 432.3¢.¢.3[TTRe AT (0282 [3T=aRep 4% Uch ¢0,00,000 [33 190,000 [3R €3 Y€, 30,000.00
Y $3.3¢.0.6[aeaml 990 3ede 42 Sreco %¥,30,000_.0[0 00 0.00 ¥,30,000 00
3 $32.20.0.¢| TUTT 938932 [3MeadRep ¥ Uch 34,00,000 [€ (19,330.0/¢R &€ ¢, 23,010, 00
& $32.39.9.b|FEIN 7T (823 3w 4y uch 90,00 000 [¢ €Y, 000 0|2€ Yo ¢,3€,000 00
b 433.3¢.¢2.9[onfafr #¢¢33 3edR 4y Sreco 90,00 000 [¥ Yl9,€00, 0| ¥Y. €, 4,493,900, 00
¢ $32.29.0.6|d® 97T (0938 [3MedRe ¥ qceh 4,00,000.0[3,3%,000.0[¥4.¢0 3,9¢,000.00
] $32.29.0.3(FHAT 03y |3TedRes 42 qceh 3,00,000.0[¢ 00 000 0[33.33 R,00,000.00
g0 $32.3¢.¢2.3[31TARFaT {0238 |[TerEa a13(¢ Uch 4,00,000,0[0,00 0,00 4,00,000,00
9¢ $32.29.0.9|FITAT THW38  |NTedRe 4% Uch 0,00 0,00 0.00 0.00

[} $32.29.0.93T 9T [093%  [3MedRe ¥ qcah 2,00,000.0[24,000.00 94,00 ¢,000,00
93 432.3¢.¢.3[ 3T AepT F88R [3TeaRh 4¢ Uch ¢,00,000,0(0,00 0,00 ¢,00,000,00
1] $32.2¢.2.3(areAT T f{8¢¢ 3=dReh 4y Ereco v,00,000 0[¢ ¥¥,bR1.0[0.6Q $,94,03.00
2y $32.20.0.%[ TR AGH[RLR  |NTedRF ¥ Uch $,00,000,0|¢,18¢0.00 [£3.3€ ¥,3¢,230.00
%€ $32.32.2.1[3Y (USR8 3R 4Y qcah 3,40,000.0|l9l9,E32.00 [3¢.0Y 2,63,36¢.00
2l $32.32.0.6/3Y (P[RR 3R 4Y qcah 20,00,000 3,4 3¢R.0[5.0Y 19,90,£8¢.00
8¢ $32.29.9.¢|TARY ATHRRE3  |3edRe 4y Uch 23,00,000 3, 0% 0[3¢.€3 ¢,20,3%¢.00
2% 43.20.0.9|[9AT AT RRN8Y  |3NeadRe ¥ Uch ¥,00,0000[¢R,¥33.00 0.8 3,88,86¢.00
0 $33.3¢.¢.¢|dTelareld GJ¥Y  |TTolEd &18 ¢ qcah ?,00,000.0[0 00 0.00 2,00,000,00
B $32.29.2.%|ATATY Y11 3edRe 4y Uch €,00,000,0[¢,33,3¥3.0[0.93 ¥,loY, ¥3l9.00
R $33.3¢.¢.3|T3T AT RN 3edReh 42 Erco ?,3€,000.0[0 00 0.00 ?,3€,000.00
3 $33.3¢.¢.¢|TTdeloleh [R3¢ |3 4 ¢ Uch R,00,000,0[¥R 99€,.00 |Y.CE 2,80,3¢Y.00
Y $32.32.0.1|FTCTG dJR3%e |3 4Y qcah 20,00,000 [,28,30¢.0[2¢.163 19,¢R,E8R.00
E $32.20.0.3|aToraforp23¢3  |ITUSHT U ¢ Uch ?,40,000,0[0,00 0,00 ¢,40,000,00
3, $32.3¢.0.4|0T, AT (323 [TeIET A18|Y Uch 3,00,000,0[0,00 0,00 3,00,000,00
W $32.2¢0.0.8|Tul¥eT, 388 3w aRE 4y Sreco ¢,00,000.0|19,3¢,1930.0[Q0.33 lv¢,R0.00
U $32.3¢.2.3|NfT gar 43¢y |TerET S13( ¢ qcah Q000,00 [0 00 0,00 Q€,000,00
R $32.20.0.9|UTfolaRT 3388 |3TedR 4¢ Uch 0.00 0.00 0.00 0.00

30 $32.2¢.0.3[Nfa qardR3e8 3wl 4¢ Uch ¥ 000,00 [0.00 0,00 ¥ 000,00
3¢ $32.¢.9.%|310T59T g23%y  [TreTET STS|¢ qcah 3Y,000.00 [0,00 0,00 3y,000,00
R $32.2¢.9.3|uTforT 3(3es |ITUSHT U ¢ Uch ?,30,000,0(0,00 0,00 ¢,30,000,00
33 $32.32.9.3(30T FIAT{R3ER 3R 4Y qcah $,00,000,0|3,43 £¥4.0[40.193 3,¥€,343.00
3y 433.¢.9.3|fGegfaT Y2398 |37 ¢ Uch ¢,00,000.0[¢ Qly, 3¢2.0[Y.£9 €,03,8l9% 00
3 $33.3¢.9.3|T99T Al RYee |3MedRam 4¢ qcah 20,00,000 |€ QR 1819.0[€£R.]¢ 3,00,303 00
3¢, $32.¢.2./TAT TIFHRYEE  [3edRab 4 Uch 20,00 000 [¢ ¢€,Y.0|¢C.ER ?,23,083.00
3l $32.2¢.9.¢[. oI5 3[Rwee  [TeET STE|e 9qch §,00,000,0[Q¢, 390,00 [R¢.3¢ g,€%0.00 |
3¢ $32.3¢.0 4| RYEe 3R 42 Uch R,00,000.0[0,00 0,00 R,00,000,00
3R $33.3¢.¢.3|TeIaTToIoh _YEe  |TToTEd a13] ¢ qcah ?,80,000.0[0,00 0.00 2,830,000 00
Yo $32.39.8.¢| T JUM{RWER | Reh 4y g ¥,00,000_0[0 00 0.00 ¥,00,000,00
¥ 432,290 AT {RYE3 | 3TedRe 4¢ g 20,00,000 |2 9¢,¢E3.0[28.¢] ¢,R%,834.00
¥ $32.39.2.9[3e[ZaN To[RR¥IR | HTed e 42 qceh §,00,000,0[0 00 0,00 §,00,000.00
Y3 $32.32.9.¢|Td FHATYRHE |3 4¢ gch $,00,000_0(33,¢30.00 19,21 ¥ EY,240,.00
Yy $32.3¢.0.¢|ACIATIR9R  |TToTEd §13| ¢ 9ch R,00,000 0[¢ oY 300,0[92.85  [R4,500 00
¥ $32.29.0.3( AR TAURBR. 3R 4¢ uch ,00,000,0[3,04,€00.0[¥? 23 3,RY,¥00 00
YE, $32.3¢.9.9[ TSI 998 |37 Reh 4¢ 9ch 0,00 0,00 0,00 0.00 [
Yl $32.20.0.¢| TATNT A6 3o 4¢ uch 4,00,000,0[0 00 0,00 4,00,000,00
%4 $32.3¢.¢0. 3Tl T38| 42 uch 3,00,000 0|0, 00 0,00 3,00,000 00
¥ $32.29.0.6[3MFaT YR 3T 4¢ gch 2,00,000,0[0 00 0.00 §,00,000,00
30 $32.3¢.¢.b[cTa@TRAR$IR. 3R 42 9ch 0,00 0,00 0,00 0.00 [
3¢ $32.32.9.8| 31T 3ol R4E |3 RNah 4 ¢ g $0,00,000 0,00 0.00 $0,00,000.00
92 $32.2¢.9.J[Gfod, AR|RYER  [TaTEa 152 qcHh 0,00 0,00 0,00 0,00 |
33 $32.29.0.%399MFar 68 37w 4¢ Src §,00,000,0[0 00 0,00 §,00,000,00
3y $32.29.0.5|ATRETA|$ER |9TeT T ¢ Src R,00,000 0|0, 00 0,00 R,00,000 00
55 $33.3¢.¢.Y|TToIehT TA[RR48 |TreTET a13] ¢ qch R,00,000.0[0 .00 0.00 R,00,000.00




HI=a R 4

8, $3.3¢.9. 8| TIATHAFH R4 3 3,33,000.0[0,00 0,00 3,33,000,00
319 $32.38.9. 2| TIHGHIIRYRE  |TTET 9158 6,0¢,000,0[0,00 0,00 ,0¢,000,00
3¢ $32.3¢.9.{TTEHA TYRYR  [TT¥Fa 152 3,00,000,0[0,00 0.00 4,00,000,00
48 $3.3¢0.9.¢C|TA f&am, [0 [TeEa a1s|e §,00,000,0[0,00 0.00 §,00,000,00
g0 $33.3%.9.|TTd BRIYRYR [T a1s|¥ 4,00,000.0|0,00 0.00 4,00,000,00
&2 $3.30.9.9| HATHHTTH [ [ToET a13|¢ §,00,000,0[0,00 0.00 §,00,000,00
&2 $3.3¢.9.9|TCe AR | AR 42 3,90,000,0/0,00 0.00 3,30,000,00
€3 $3.¢.9. 8| TR TARRYR  |TTTET a15|¢ Y,00,000,0[0,00 0,00 Y,00,000 00
&Y $32.3¢.9.&[3THHAGSH [R9R  [TaFa a15(¢ §,00,000,0[0,00 0,00 §,00,000,00
€3 $3.3¢.9. 3| dTTorRIT R9R [T a15(¢ §,00,000,0[0,00 0,00 §,00,000,00
13 $32.3¢.0.3|9TTg AAT/ARUR |37 42 R,00,000,0[40 000 00 [33 00 §,40,000, 00
&l $32.22.2.3[IT GIUTH[RRYIR__ [14Tel T2 43,00,000,0(4,00,000,0[¢00,00  [0,00
&¢ $32.3%.8.9| 3791391, &9 JS1Eq 9138 §,00,000,0(¢ 00 000 0[¢00,00 0,00
€] $32.3¢.9.6/3TSG AWIRRYR  |ITTET a15(¢ £0,00,000,[¢,R8,199€.0[¢R Rl §,00,3%8.00
bo $32.2¢.9 3| fAffe fG{R9R  [ToFa a1gly §,00,000,0|Yls,300.00 |5.83 8,93 400,00

[log $3.22.2.3[HIRT IUTH[RRYR __ [T=TEa J13(¢ 9o,000.00 [€l5,089.00 [RY.cY  [R,R0].00

flo2 $32.30.2.¢|FAUTAMANR9R  [3TedRe 42 0,00 0,00 0,00 0,00

[lo3 $32.39.2.6[oI3fIF @YRRYR [AHTedR® 42 §,00,000,0[0,00 0,00 §,00,000,00

[loy $3.3¢.9.3[FAAAH [R9R___[To1ET a18)R §,00,000,0[0.00 0,00 §,00,000,00

[loss $32.3¢.9.9{3UTETET FRYR  |ITTET 152 3,00,000,0[0,00 0,00 R,00,000, 00

[log $32.¢.9.3[ W] IIUTHRRYR [ 3T=aRkes 42 §,80,000.0[¢,20,000 0[¢00 00  |0.00 |

(st $32.2¢.9.%/fafqy @er|R9R [3=aRke 4y 3,00,000,0[3,39,000.0¢g.00 [ 93,000.00

[loc $32.3¢.9.3[TS FIHT /YR | ToT TEATR ¢ 34,00,000 0,00 0,00 34,00,000,00
1R $32.22.2.¢[FMITTOIRI U [3Ted e 42 $0,000,00 [0,00 0,00 40,000 00
¢o $32.3¢2.8.¢[BRAFT [R9% [ 3TedIReh 42 3,80,000.0[0.00 0.00 3,90,000.00
2 $33.39.2.9|TEHNT TYRUIR | TelEd &13]¢ 0,00 0,00 0,00 0,00
) $33.3¢0.2.9|cTold, ARSI |TelEd &3¢ 0,00 0,00 0.00 0.00
¢3 $33.3%.9.3|FS TR {RYR___|H=aRH 12 RY,00,000 /0,00 0.00 R4,00,000,00
¢y $32.3¢.9.Y| 3T, ARELE  [3TeaRe 4y 3,00,000,0[¥E, g, 00 [R.3Y Y,43,333.00
¢ $3.3%.9.¢| AT R689 [I5TET F13|¢ 8,90,000.00,00 0,00 §,90,000,00
s $32.3¢.9.|ATATISIH Y€Ee  [ToEa 9158 0.00 0,00 0,00 0,00 |
o $32.3¢.9.3[HAUT T [R€9 [ 3T=aRe 4y §§,00,000 [¥ 2§ 4Yl.0[2E.03 ?9,¢3,%43.00
24 $32.¢.9. 3 FHARIHT|RESR [T a13(3 84,00,000[5 €0,8¢8.0[30.3%  [R,38,0¢E 00
& $32.2¢.9.3[ 3T THRLee  [ToET S18)y 3,00,000,0[9E,¢33.00[82.30  [¥,43,36.00
Ro $32.2¢.9.9|fafqy @I|Rwee  [3m=aRe 4y §4,00,000[€ 93,8¢Y.0¥3.00  [¢,38,089.00
’¢ $32.3¢.9.[=ITh T2 [3TeaRke 4y ?,90,000.0[31s,¥00.00 [¥.3 §,9R,6.00,00
]R3 $3.¢.9.| el GITW[RLE  [ITSTET 15| ¢ ,338.00 [0.00 0.00 3,338.00
’3 $32.38.0.6[HHT =aI{R6E_ [3TedRa 4R R,30,000,0[¢ 9l lvo,0[€3.¢ ’3,330,00
RY 433.¢.¢.3/eeaT gy3ee [3TedRe ¢ 4,00,000,0¢lg, 900,00 [y, Y0 ¥,9,300,00
Ry $32.3¢.9.3|F8T 8- F[938¢  [3M=aRes ¢ R,00,000,0/¢ 83 ¢C.0[RE.88  [§,893.00
Q& $3.2¢.2.3 mgmgﬁ 3839y Wau'l?,' 14 4,00,000,0(4 00 000 0[200 00 0,00
]l $32.3¢.9.¢[ 37T TEI|RY3y  [3m=aRe 4y R,00,000,0[¢,190,000,0[¢3,00 30,000,00
Q¢ $33.3¢.¢.£| UPTelT 3157|9389 TTEg 918 ¢ 4,00,000,0[4 00 000 000 00 0,00
R ‘33?.??.?,(%%?‘83?‘3 3-]1u-_(-|ﬁ37»';3 ¥,00,000.0[0 00 0,00 ¥,00,000 00
goo $32.32.9.|JePIT TA{6R8 [T Reh 42 Y0,00,000 [0 00 0,00 ¥0,00,000 00
gog $32.3¢.9. (AR 3083 [3edRe 42 Y,00,000.0[3,8%,9¢8.0[83.8e  [¢eg.00 ||
o 033?.’\)?.?.&31@'8[1:2 Q¢ Waﬁg 9 2'00'000.0 0,00 0,00 2[00[000_00
g03 $32.3¢8.9.6[ERHMET  [¢3yR  [3m=aRes 4y §0,00,000[3,83,3¢0.0[39.3¥  [&,¢€,ER0.00
g0y $32.3¢.9.3[HAIY WEHCLY3  [3TedRa 4y §19,00,000 3,43 £34,0[30,¢0 §3,58,304,00
Co¥8230R30¢ YTHTS IMIUTTCIHT - FRI&T [
g0y $32.3¢.9.¢[ATATIRIT 2988 [3TTeadRa 4y 3¢,00,000,[3,88 l9o0.0[22.¥3 2R,00,300,00
g0, 433.28.0. 3T AH989e |3 ¥ 3,00,000.0|¢,90 000.0|30 00 ¢ 30 000,00
goly 43.28.9.8|SToTc {9898 |3 ¥ 3,40,000.,0[4ls,0.00 [33.0¢ 2,8%,3%0.00
go¢ $32.3¢.9.2[AAIGH A292¢8  [3eadRe 4y §3,¢0,000,[3,54 208, 0[39.¥ §0,3¥,¢RY.00
g0} $32.3¢.9 Ao ATfRe93¢  [3m=aRes 4y §,190,000,0[8l9, §€0,00 [, ¥ §,33,(¥0,00
2¢0 $33.22.2. 393 FABTM IRR383  [3TedReF 12 R,00,000,0[0,00 0,00 R,00,000.00
29¢ $32.3¢.9.[TANT UH{R3¢3  [3m=aRke 4y §0,00,000[€ 83,628.0[68.]  [3,¢,:¢R.00
292 $32.2¢.9.¢| AP FAR3LY  [3M=aRkes 42 $0,000.00 [43,3b4.00 [¢Y.by  [b,E39.00 |
293 $32.3¢.9.¢| 18T BTA|R329 [3MedRep 42 R,00,000,0[0,00 0,00 3,00,000.00
29y $32.2¢.9.3|f8T TFa{38y  [3r1=aRkes 42 40,000, 00 0,00 0.00 $0,000,00
22y $33.3¢.¢.¢| Aferr BRYRYee 3MedReh 4¢ 0,00 .00 0.00 0.00
29E, $32.3¢.9.¢|ATEITIT 398 [37T=aRep ¢ R,00,000.0[]¢ 840,00 | ¥R ¥C ?,0%,040.00
220 $32.39.¢.¢|TTTIRIER98 | 42 4,00,000,0[€3 Y0000 [$3.9¢ ¥,39,600,00




{514 $32.2¢.9.¢| 31133 [39R

EE1 R,40,000,0/0 00 0,00 R,40,000 00
298 $32.32.9.¢(TAGT FAT{RYR_ 3R ¥ R,00,000.0[%,33¥.00 [8.2¢ 2,04, bt 00
20 $33.3¢.2.2|TTOTRT 3YRRYR_ [3Ted e 42 §,00,000,0[0,00 0.00 §,00,000,00
232 $32.3¢.2.¢| TR H[R9R_ [3Ted e 42 3,00,000.0/0,00 0.00 3,00,000,00
R $32.3¢.2.3|TAEATERT 498 [3Ted e 42 R,00,000.0/0,00 0.00 R,00,000,00
233 $32.3¢.2.3Irseufd W[RYR_ [3Ted e 42 Y,00,000,0/0,00 0.00 Y,00,000,00
23y $32.3¢.9.2 RYR (TR 48 3,00,000.0[0,00 0.00 3,00,000,00
239 $32.3¢.9.3{TAGATeRT JRE28 [3MedRe 4y ?,90,000.0/43,300,00 [3y.co  []ls,¢00.00]|
2% $32.3¢.9.2[H8TT 3,5 T|R6LE  [3MedRe 4 Y,00,000.0[3,93,38¢.0/43.0% 2,¢5,69R.00
230 $32.39.¢.¢|TTToIprEa{R08e  |HTedRe 1Y 3,00,000,0[33 R00,00 2644 ?,6ly,%00.00
93¢ $32.39.¢.9[3MATS §RA[Ry3%e  [3MTedRe 4y 23,00,000,[3 0s,000,0[94.93 80,833,000 00
238 $32.32.9.¢|clTeFelS 3T[R93¢2¢8  [3TedIReh 42 R,40,000,0/0,00 0,00 3,40,000,00
230 $32.3¢.2. U932 [3TedReh 42 §,00,000.0/0,00 0,00 §,00,000,00
93¢ $32.29.0.3 TP &THARY3LY | IHTedeh 4¢ 40,000,00 [0 00 0,00 $0,000,00
(088230303 UTHTS IMIUTTIHT - TAELT
232 $32.22.2. 3 TALTHHRLLIR  [TTEa J13|¢ 3,30,08.0[0.00 0.00 3,30,068.00
233 $32.2¢.¢2. el TTATA{Re3IR_ [I<TEa J1s|¥ £4,00,000[90,3¢,¥3R.[6C.96  [8,09,95%.00
23y $32.3¢.9. T AIcHR893R [T 1s|¥ §,00,000,0[3Y,000,00 [y, 00 6§, 000,00 ||
239 $32.22.2. 3 UFETd I8 [ITTEd J18|¥ 3,00,000,0[0,00 0.00 4,00,000,00
238 $32.22.2.3UFAL AR [I[1Ed J13|¥ 4,00,000,0[0,00 0.00 4,00,000,00
230 $32.29.2.3/TAELT [y} [T=TEa I13|¢ R0,00,000 0,00 0.00 R0,00,000,00
93¢ 433.2¢.0.3ARET TAHRYR [T TH ¢ 3,00,000,0[¢,03,300.0[3Y.90 ?,809,l800,00
23 $33.39.9. ANCITHARYR___ [I51FT a13|¢ §,00,000,00,00 0.00 §,00,000,00
280 $32.2.2.3TART UMUK [I1Ea d15R ¢,00,000.0[¢ £0,290.0[30.0% €,3%,¢Ro0.00
282 $32.22.2. A EoTRRURR___[ToTET J18|¥ 3,00,000.0[39,3¢Y.00 9.3 [E3,6%Y.00
283 $32.22.2.JIATMHIT US(RRWR___[T1Ea 132 ?,90,000,0[0.00 0.00 §,90,000,00
283 $32.22.2.3IIdHIEN{RREL L [ITET JI8|¥ §,00,000,0[0,00 0.00 §,00,000,00
28y $32.22.2. 3T TAFY(RBee  [ITTEa I13(¢ £0,00,000Q,8¢,342.0[QR.2%  [¢,E¥R.00
249 $32.22.2.3[WT hogg 622 [ITET JI8(¥ §,00,000,0[34,600,00 [34.60 £Y,900.00
288 $32.22.2. 3 TAEUHHANRRL  [TTEa J13(¢ ?,90,000.0(9,9¢,R46.0[R¢.CY ?,lbyy.00
28l $33.3¢.9.3[ARRST FARwLe  [ISET F13|¢ 4,00,000.0|0,00 0.00 4,00,000,00
28¢ $32.22.¢. 3ol TTATA(RBRe3  [TTEa J13|¢ 24,00,0009¢,38,326.[b9.63  [3,69,6¢¥.00
2Y% $33.29.2.3IMURHA 683 [TTEa I13|¢ 0,00 0,00 0,00 0,00 |
£Gg0 93?.??.?,QWWQUQ?3 Wau'l?,' 14 §,00,000 0f0 00 0,00 ¢,00,000 00
293¢ ‘83?.??.?.?(7@?%?[9??3 Wau'l?,' 14 §,00,000 0[0 00 0,00 ¢,00,000 00
oYY 30303 UTHTS IMIUTTOIeRT - Y AT 2 |
IR $32.32.0. 3[R fa#AT Y8 [3MTeaiRep 1Y §,00,000,0/0,00 0.00 §,00,000,00
243 $32.22.2.3|fR3¢ BR3¢ [T HATH ¢ R,00,000,0[0 00 0,00 R,00,000,00
29y $32.¢.¢.3[TTSelaT, T3 | 3T Reh ¢ 0,00 0,00 0.00 0.00 |
299 $32.2.2.3|fR3¢ BR3¢ [3Ted R 12 R,00,000,0[0 00 0,00 R,00,000,00
298 $32.32.9.3[37Me] 193 3|3392 [3MedReh 42 §,00,000,0[0,00 0,00 §,00,000 00
2490 $32.3¢.9.3(FIREEANRYLR  [3edReh 42 3,00,000,0[0 00 0,00 3,00,000.00
29¢ $32.38.9.FH TTEYRYR_ [3edRe 42 §,00,000,0[¢3,840.00 [¢R.3Y 2s,040.00 |
29R $32.38.9. YA, T, [RYR_ [ToT TEATH 2 3,00,000,0[3,04,£¢0.0[69.9Y ?,%,30.00
g€o 43.30.0.3(&HAT3, 3ﬂ'@ QYRR 3-]1u-_(-|ﬁ3? 5¢ 0,00 000 [0 00 0,00 0,00 000 00
X $33.3¢.2.UTSIRID dRUR | STeT TEHTN ¢ 0,00 0,00 0.00 0.00 |
PER $32.38.9.3[TeloT WREJRRYR_ [3TedRep 42 Y,00,000,0[0 00 0,00 Y,00,000 00
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